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1. forenferi st Tt o ek | o ST 8iR
7Y Ufert & 9 A o fore Fen |
At forg gt ok fere giem o fafy= sarmt
T FATT R @ T ?
(A) Y qIS-ATSTT T ITT HEAT
B) agafg ara ferenferay =i fafu=
STETAHATST hl U HLAT
(C) T forerani IR srfrsmrarant ohl genferd e
(D) forenfer & aehwifer =1 fashma s
‘Tt <11 g Wetd &' qehtur ok fireror # frenferat
ot fershay wrieTar o fore fe= 5 9 -
Toreror-gfert a1feres el 291t 2 [CTET 2014]
(A) foenfedi = @t & Jem # of S eI
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81.

82.

83.

84.

3% STAT-3Ta fel # STe- 37 e
Terem

B) fafq= @ell o TA-H1E oA 3R 3%
forenferi =1 fewmn

(C) Terenferi = ofiaR TR =& |t I 9t
faf\r= @rell o M A1E L o6 T FHe

(D) Terenfer =1 efifasy W @ g
FHEH ] ST AR Y W A1 FHE
RS S s o fow e

=1 | Q@ -1 TR i Hel H SIS

3Thet o1 THfad &1 & €7 [CTET 2014]

(A) HTe T S TE HEwaqU YeaTaeH ohi FIHTST
1 ATEAT B

(B) Teu 1w weimee: fshareradi ol I el
3R AU STAAHA I T HLl

(C) feu TU wArTcHs Wed o femiehe et
G AT

(D) Tt YgH i BT o 9K § ==l el

Sira-Sigatl W SR 918 &l 9@ ok a1e, Thael

FHa [V o fnenfesi & fere fafeamr o yoo

F ARSI TG T farenfei

TG AT | [CTET 2014]

(A) Sra-Siq T&T01 o hIFTel o T

(B) <fe THI-TRo 1 ==t § seerd

(C) FHeN-hefla AT i aradfaeh Sfad i
uftfeafadt & @y Sieq

(D) Sfi-sigeii =1 drerq hdl s ST Sk
i GergAeierd fashfad &

Sferit e V o frenfeai s ¢ g’ o enenfia

ROl B afifed A =Edt ¥ 1 S

[CTET 2014]

TITYUE TR T T 1 SR ST AT

e Tl 9 QR fafi= geR o oiee

o IS 3 1T

fafar= wepr o s b1 Yef¥d w3 9

Te T TN AT AT

forenfert @ e =nfew fo 3 era-o10

feftrm Sifam @ict, 3Tk <l 1 3Taeiish

L STR IGh A 3¢ ARAT HET =AM

fem =1 =g fawmn s § fo 98 ge-us s

(A)
(B)

©

D)

8s.

86.

87.

88.

U =1 =)on (FH H T2 §) T ST
[CTET 2014]

i. g9 ferem

i, ®E/fesEd TR wE

iii. Y¥F-US 1 GURH HIAT

iv. ﬂ—ﬁzﬁwm
ST fRT ST aTet =Xvi <l |l ¥ hiH-9
7?2

(A) iv, ii, i, iii B) ii, iv, i, iii
(©) i, i, i, iii (D) i, ii, iv, iii
T ST Torenferi 1 9% gema < et §

fop waafaRor SR & fau fora TR T At
g 373 GuTfad ek § 3791 AeM < Hehal
T | TR TOd SRR TS B Wkl ©
[CTET 2014]
(A) 3TH-STH o foTq Treisifes A1emT 1 94T
HET
(B) &R, TheX, 3l S SAfRAT a6 7 W
(C) ™R ¥ e 3ThHER 3-S5 9§ a1
(D) 279 AT aTeH ok g = Fafia st
Fen vV & foenfiE # fommn Sma s a5
= 5 9 we@ gt a1 € [CTET 2014]
(A) Y IR 3T GoH hTHl
(B) fafea &l # 3% 21fersh s1vamg <
(C) STHT RIS TAETON hT SIS HTAT
(D) & S SR HeTH TR To
" =1fe wen W& o T farstett =1 &1 o g9 Sfed
o yepr guiferd M 2" 36 U 1 e
AT [CTET 2014]
(A) Tgfad Tk O fastelt &1 ¥4 +49 &
g fRrenferi s GeeTeier M
(B) fearstett o6 Gl o s # frenterdi s ateher
HE
(C) Twrenferdi o e 3R faaTas
FigTe 1 T e
(D) ferenferi =t Wor SR 1 Ahe
HE
N V hl TATGRY ST i q3T-T&IH oh
TF S | ‘gerur 3R TeE’ W Uk N H
e 3299 § [CTET 2014]
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(A) Torenferdi =t "= SR 1 SAThe
FHET
(B) Terenfei =1 sTaeR Suetsy Ul o 3
EISIEIRCIS IS tsitC]
(C) Torem &t STERa STaERonsti i Hier |
forenferai = weg we
(D) frenferei o seeies SRt § U HLT
89. J&T TV 1 TR o R § frenfei o
HagTefia M o fau 1sm f=fatea
forareRedl o1 TS Ht § : [CTET 2014]
&. e ferenefl 1 59 91 ok foe dedrtea
FHE foh 9 TH-Tsw J& HI T IR
IHHT @A L
T AW R R-faarg gfaaifi w1
SIS AT
7. gell W e dree-frmfor g
T T SN AT

90.

o, frenfeEt s wdl denfedl & ver feam
Fifed Se¥d ] I i | SR &1 T Ardfarrerar
T F - Tod Y g9 B 2
A ® BF o T O=
FHe V o et o ‘afe o7 T @ s’
13 Y o oIS el ool o o | frenfert
! THE o T o IR H S o fog e gdiemo
TETEd I T | SH T S Y= 2 § fom
T St g | freaneff grafeeq staumon i
& THE TG HeRT @ H B Wehdll ©

[CTET 2014]

(A) 3H T I U@ ok foag W&l wgfd =

AT & foRa e

(B) TRranferi o1 GmrcHes &R 3= TEl o

(C) IE Y0l I1ag-Jxieh # e fhT S
A T o
(D) forenféaii =1 =18 Weheor Jaeh TRl o
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ENGLISH as LANGUAGE-I.

Candidates should answer questions from the following Part only if they have opted for

PART IV
LANGUAGE 1
ENGLISH

Directions : Read the passage given below
and answer the questions that follow (Q.No.
91 to 99) by selecting the most appropriate
option.

In this floating village in Brazil, there is
only one way to travel. Students go to
school by boat. Locals go to worhip by boat.
Taxis arrive by boat. Even the soccer field is
often a boat. There are three homemade
fields on land, but they are submerged now
in the annual flooding of the Black River. If
the wooden goal posts had nets, they would
be useful this time of year only for catching
fish. So young players and adults improvise.
They play soccer at a community centre that
has a roof but no walls. They play on the
dock of a restaurant. And they play on a
parked ferry, a few wearing life jackets to
cushion their fall. The high-water mark in
the Rio Negro this year was the fifth highest
in more than a century of measurements.

As scientists study the impact of
deforestation on the Amazon basin, and the
cooling and warming of the Pacific Ocean,
extreme patterns observed over the last 25 or
30 years raise an important unanswered
question : “Are these trends human-induced
climate change, or can we explain this with
natural variability?”

Villagers said that passing boats
sometimes knocked down power lines
during periods of exceptionally high water.
And while the soccr fields are usually
available for about half the year, the land
has recently been dry enough for only four

or five months of play. “We don't have a
place for the children to play,” said de
Sousa, a shop owner. “They are stuck in the
houses, bored.” The most adventurous,
though, will find a game somewhere.

91. The floating village is famous for its
[CTET 2014]
(A) Black River
(B) Craze for sports
(C) annual flooding
(D) suffereing of the locals
92. The wooden goal posts had nets that are
during floods. [CTET 2014]
(A) floating around
(B) used as nets
(C) useless
(D) misused
93. “The passing boats sometimes knocked
down power lines” suggests that the
[CTET 2014]
(A) rescue boats are careless
(B) water was charged
(C) the flood levels were high
(D) electric poles had fallen
94. A word that can best replace the word
‘improvise’ is [CTET 2014]
(A) contrive (B) share
(C) plan “(D) devise
95. In this paragraph, ‘to cushion’ means to
[CTET 2014]
(A) separate (B) protect
(C) pad (D) abate
96. Identify the correct statement
Flooding has
time.

over a period of
[CTET 2014]
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(A) remained the same
(B) been increasing
(C) been unpredictable
(D) been decreasing
97. Pick out the false statement[CTET 2014]
(A) The lines remain in place during
the floods
(B) The residents enjoy football the
most
(C) The goal posts and nets are useless
during the floods
(D) The community centre is the only
space for playing
98. The antonym of the word ‘exceptionally’

18 [CTET 2014]
(A) extraordinary (B) generally
(C) markedly (D) easily
99. “... will find a game somewhere” suggests
that [CTET 2014]
(A) people will play football in the
water

(B) football is lost during the floods
(C) the Black River is no threat to a
game of football
(D) high grounds are reserved for the
popular game
Directions : Read the poem given below and
answer the questions that follow (Q.No. 100
to 105) by selecting the most appropriate
option.

THE LAST CONQUEROR
Victorious men of earth, no more
Proclaim how wide your empires are;
Though you bind-in every shore
And your triumphs reach as far
As night or day,

Yet you, proud monarchs, must obey
And mingle with forgotten ashes, when
Death calls ye to the crowd of common men

Devouring Famine, Plague, and War,

Each able to undo mankind,

Death's servile emissaries are;

Nor to these alone confined,

He hath at will

More quaint and subtle ways to kill;
A smile or kiss, as he will use the art,

Shall have the cunning skill to break a
heart.

100. “...servile emissaries” means

101

102.

103.

104.

10s.

(A) risky behaviour [CTET 2014]
(B) humble messengers

(C) those who protect

(D) messengers of peace

. “More quaint and subtle ways to kill;

A smile or kiss, as he will use the art,”

— tells the reader that the speaker
[CTET 2014]

(A) believes in human goodness

(B) is afraid of his enemies

(C) hates wars

(D) distrusts human nature

“... the cunning skill” — refers to

(A) a weapon of war [CTET 2014]

(B) skilful soldier

(C) a manipulative king

(D) hidden threat

“... mingle with forgotten ashes” means

(A) dead persons [CTET 2014]

(B) fires on the battlefield

(C) threats to life

(D) hidden dangers

Here, ‘subtle’ means [CTET 2014]

(A) stupid (B) hidden

(C) suggestive (D) sullen

“And your triumphs reach as far As

night or day,”

— The poetic device found in these

words is a [CTET 2014]
(A) pathetic fallacy (B) metaphor
(C) simile (D) formula
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Directions : Answer the following questions
by selecting the most appropriate option.

106.

107.

108.

109.

The teaching of reading by associating
characters or groups of characters with
sounds is the methods.
(A) morphemic [CTET 2014]
(B) direct
(C) phonic
(D) whole-language
Teachers can remediate for the student
with language learning difficulty by
[CTET 2014]
(A) focusing on individual progress
with individualized instruction
(B) providing notes that
summarized and simplified
(C) initially, giving information as
reading only, no writing
(D) conduct extra classes for the student
to ‘catch up’ with others
Teachers can demystify abstract
grammatical terminology so that
students can write through the
[CTET 2014]
teaching of certain

are

(A) explicit
structures

(B) separating of spoken and written
forms of language

(C) linking of spoken language with
writing

(D) frequent feedback on only
grammatical errors

Language is taught by beginning with

simple sentences instead of the initial

sounds and blends. This implies that

[CTET 2014]

(A) communication is based on
complete sentences

(B) pronunciation has no place in
language acquisition

(C) grammar and pronunciation have
equal place in language teaching

(D) grammar is an important basis of
communication

110.

111.

112.

Which activity best supports the
practice of speaking skills?
[CTET 2014]
(A) Students independently research a
topic and present a formal report
(B) Teacher's giving purposeful
dictation by integrating it with a
spoken activity
(C) Individually, students read a case-
study and draft a response
(D) Students tell their version of a story
based on some hints, and apply it
to a problem-solving situation
Develop a resource box for Class I.
Teacher gives 3 instructions to each
student regarding which items are to
be put in it. [e.g. : puppets, pieces of
coloured fabric, brushes, stencils, colour
pencils, small toys, etc.] Student follows
instructions. The activity is
[CTET 2014]
(A) listening with concentration for
specific information needed for a
task
(B) stage in a listening session when a
listener completes a task
(C) listening to natural conversation
between teacher and student
(D) listening to a speech which is semi-
scripted
Vocabulary in the target language
should be kept under control, i.e.,
graded. This can be done by
[CTET 2014]
(A) teachers providing a short list of
words that are commonly used
(B) students learning and practising in
the context of real situations
(C) students write/speak using a graded
list of new words
(D) students read a prescribed book and
take a vocabulary quiz
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113.

114.

115.

116.

117.

To achieve communicative competence,

learners need to be competent in four

aspects : linguistic, sociolinguistic,

discourse, and strategic competences.

Here, ‘linguistic competence’ concerns

students.’ [CTET 2014]

(A) use of syntax, lexis and structures

(B) expression of meaning of what they
communicate

(C) use of formats and stylistic devices

(D) content organization and use of
vocabulary

Examples of “Creative Reading”

projects for assessment are [CTET 2014]

(A) reference work done in the library
for more information on the theme

(B) surfing the internet for related
information

(C) dramatization, role-play and re-
writing from a different point of
view

(D) reading for meaning

The teacher's cues for activities are

given in the first language, in a second

language class. This exploits

the communicative potential of a given

structure. [CTET 2014]

(A) sandwich approach

(B) communicative approach

(C) bilingual technique

(D) structural technique

The second language classroom is a

confluence of varied languages.

Teachers should give their students

[CTET 2014]

(A) adequate self-explanatory notes

(B) summaries and simplified versions
of texts

(C) worksheets with a variety of tasks
while covering the syllabus

(D) comfortable environments to

develop requisite skills
. supply ‘comprehensible input’ in
low anxiety situations” is the basis of

113

118.

119.

120.

language acquisition. An example

would be [CTET 2014]

(A) teacher-directed learning in the
classroom

(B) collaboration of students in learning
situation

(C) homework designed to use parents'
support

(D) students receive feedback for error
correction regularly

How can teachers respond to or

‘correct’ students’ writing in ways that

are effective? [CTET 2014]

(A) Correcting every error in the essay

(B) Writing detailed comments in the
margin

(C) Offering encouraging and summary
remarks

(D) Locating patterns of error and
suggesting improvement

Some parents of students with learning

difficulties may have unrealistic

expectations from their children. The

teacher can support such students by

[CTET 2014]

(A) persuading them to liaise with other
such students

(B) explaining to the parents about the
child's characteristics and abilities

(C) providing instructions for dealing
with the students at home

(D) making a clear reference to the
learning objectives

Educators use YouTube to teach visual

learners with videos, podcasts for

auditory learners and interactive games

for tactile learners in a language class.

Here, multi-media caters to individual

[CTET 2014]

(A) linguistic differences

(B) learning styles

(C) authentic second language

(D) learning disabilities



16

CTET Paper Ist 2014 (September)

gienelf fefafiga Y & g9 @& IH el adi @ dle ST WIS - 1 %7 fa9ey @t g1 &

HIT IV
HHT 1

fe=<t

ST : TT=IT9T W YgH frefofad 399 (9.9, 91 @

99) & ward 3ferd faskeq g

TSR ST, 1 ferer e ek 3ok fode |
AAE?

e, 519 § faem §, Mg d H g | H o
AN E, T3 RN BT T | H I8t T T HIA1 R | I
TS ST el oIl © | WIS o | W@t forem
T IS HaeTd a1 2l | GO Hewerqul ard § Hegd
A § T € TR ... T oITel b1 TSk qh
%1 39 HUR T @ § | Hifea F T2 89 & HR
e o TGk I iRt T Hraan ofewd | foma W
B T, B 9 WE % A | 3y STt ey o Wy
TH ST S =ed § | B WiE S @l ash
et & =fen | i <, Fen &, ;A wEd & A
3T T8 Tk g AMET, HE 1 TE A Al
B €l = e |

91. & e ferad § i foem forden 2 €2
(A) TISHI Sk [CTET 2014]
(B) fFew oMM arelt o
(C) =4 TR
(D) Hifew
92. TSR ok 3TTER forer arel o wed # W o
AT SR ANA TR fHF  [CTET 2014]
(A) TIEe T w1 Faai qd §
(B) RE UISF i UL LT §
(C) <@ ! AU U =MLY
(D) T 1 I, A <5 2l &
93, TS oREe o folt gERl eyl aIrd R § 2

[CTET 2014]
(A) GUT (B) Hifemn
(C) el (D) w@A

94, fordt ft FE F @A FNE?  [CTET 2014]
(A) 9% G Tk 9 el T °
(B) <Nl de 98 &1d Ug o
(C) wifean gr |l Sy
(D) TS TS T GANT LA

95, TSR 379 &M i fohd HHE T HHI T ?

[CTET 2014]

(A) T 91d IS qF U W T AT
(B) o€ =47 W 3eTs § el T § A T
(C) = 9d @Fll NI W& T8 § A e
(D) B WY B W@ T A

96. TSR for@ § T8el o1 T & © 7

(A) Toree faw wem [CTET 2014]
(B) M FHEAE
(C) A e ¥
(D) i HeT

97, ‘S’ I AL T [CTET 2014]
(A) fea (B) femm
(C) @I (D) &9

98. ‘Tifid’ ¥ fagiom wsg s [CTET 2014]
(A) Gt (B) W=
(C) Gifiqaret (D) Hiftaem

99, ‘g o THT qlhT ol 21 & =feq |’ A |
frrord wreg € [CTET 2014]
(A) T, (B) @,
(©) &, & (D) @, &

& : faar 1 vga frefefaa 3ot (3.9, 100
T 105) T wad 3fed faswey g/

EEEHEI

T

Rt W 9 ST
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T geloh o 3l

ECSin]

3R T2 o ST

T

G T SR

Yenta fordll o T

& Tl AR

[ff o feTT st § e

o 31

M o Wit S @i ©

ST, STl STeR

iR ufig

100. =t T SHH S A o &g =1 g3 ?
[CTET 2014]
(A) ST 524 T (B) MR ¥
(C) veft TeA &l (D) 30 At
101. ‘39 S TN SR’ 1 9e ¥
[CTET 2014]

(A) T G TR H M
(B) 39 Td dsl HITH &M
©) W@W@ﬁw
(D) T 3T P W T o

102. YHfa foraeh fa EamhT T&i st ?

(A) 7T & dfq [CTET 2014]

(B) T31-uferdi < fd

(C) =i & ufa

(D) 3uga |t o ufa

103. hfadr o 37 § o= = fhan T 2

[CTET 2014]

(A) ehfd = 3T o Ufd EHTET i

(B) O H 376 SHI{od ©eH & T ¥

(C) I o i S{7Tel 1 e U 37 3T E
(D) TEAI 3 ST ST I L
104, 379 el S ST’ <1 e ® T
[CTET 2014]

(A) T8 SIS Fdl S I T @
(B) 318 STA &4 dgH ol

(C) 27d SITTeT TS &1 il

(D) 319 SiTTedt # Ufie & W

105. ‘ST’ 1 gEEeEl T8t e [CTET 2014]
(A) = (B) &
(C) &A (D) &0

A : 719 few T gl & forg gaq @@l fasey
ClEdl
106. Wefhe TR TR 9o faem w geoss fafy
(A) =il o 19 hfeal T [CTET 2014]
(B) s=di sl hgHl GAM
(C) ==l sl Ieg-J&ih TR Aeia St
EIRELRHCIE]
(D) S=al ! WM &1 FAM & ok fafay
AT S

107. 9=3 R F &
(A) THWITER B &
(B) Tgwifers B &
(C) sgtres g &
(D) W1 § HHSR & ©
108. Trafier TR W e o1 "ieam
(A) Te=<t g =nfsu [CTET 2014]
(B) 3Tirst B =fey
(C) ¢ @ =ifey
(D) 9= St AIGHTST BT =feT
109. o1 HieH-faEm o gy § fefated 3
Y HH-91 FHo TE 2 [CTET 2014]
(A) o= Tpe o 9 gd & Aemh It 9
T A
(B) o3 That T & wToT Hier € 1
(C) o=9 79 URER & & o Hierd €1
(D) 5= Tt B Hh T ST & AR i |

110. TrifHeh R i Ied-J&ihi 1 o &
g 319 g forg W fomiy s <72
[CTET 2014]
(A) g TrEeh! &1 T wfae &
(B) Tt v ok Sfgeaqet w9 wnfhe &
(C) SUSIMCH 13 I &

[CTET 2014]
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111.

112.

113.

114.

115.

(D) et siferen & siferss wnfher &

13 ok 37d | 31em 3R Tifafaferat <7 w1 sea
7 [CTET 2014]
(A) T=at ot AfireAfe o STaR 1

(B) sr=dl oh! =% T & Tafae@l s
(C) I=di 1 A T &g AT ITe FHLA

T TR AT
(D) & Ht Wl e
T TR W TH ao-Rres ¥ gaifies

aruferd © [CTET 2014]
(A) IeI-Th H SF T8 Heff heri-hiaarsii
1 ShHLY HLAT

(B) T=Hl ol HTeh YT ST TN ShiAT To@m

(C) e 3R THefl o STel sr=dl bl TS FEIT
& fore dreafea s

(D) o=at st AR qdemmd &

ARt o STTER -9 HoF T §?

[CTET 2014]

(A) S=ai H TS A 1 ST &7 ardt
gl

(B) or=eli T TS He hl SFASITT &l el
il

(C) a==i H 7o TG 1 & g i
A T

(D) o= ! AT THEmT sl ©

aTeT | 3Tehed &1 WA [CTET 2014]

(A) U3 27 H fou s1eardi o Hredq | et
¥

(B) Hren-fa@m & S off =erd! §

(C) e I=ai w1 TTsu1es S o fore 2t
¥

(D) chae fereres ot fsure e oh foru 2t
¥

o eAfsd R 1 Ui § g Ae

ety B2 [CTET 2014]

(A) ToT-<h&]

(B) TSI T

116.

117.

118.

119.

120.

(C) TTgaA-T&ih I

(D) TS
&1 WG i Ufshan H foheent yifient Faiifeen
e § 2 [CTET 2014]
(A) HTST-JIRTEIAT i

(B) sTA-Trfec o |efeh YamT i

(C) aa-"J&ih i

(D) TeT-Tiensii i
Tk TR e | - et 1 fohw fag)
w1 FIY AT LA T AMfeT 2

[CTET 2014]

(A) Tt STl bl I €9 H TR <

(B) Tt sT=at bl A Tfafafy § et 2H
% fere drefed e

(C) |t ==l | I TUemd T

(D) fafae YR =t g9a- 9= Wit 61 S9ART

HET
uron eI | iRt A fRe T gy
aAferer ot fean &2 [CTET 2014]

(A) 99T T ISI-J&IHR T

(B) TSI § B STe! HISI-T1T T
(C) ufar # Siieft ST aTeft e 9
(D) e | Sielt S arel 9T W)

rerfes TR IR ToT-fereror o6 399 UE § TR
[CTET 2014]

(A) I=3 AT ATST T TN 3T STeat el
S

(B) SI=a WToN-T{eT H Had 7= 37k ot

(C) o=a fafy= feafaai & o <1 gemmelt w4
R Gh

(D) SI=9 HTST o ST el ST Tk

a1 I TT T AT A o faw Fad

3feaa T = B2 [CTET 2014]

(A) st =i fafea adten o=

(B) =l o WTST-ANT Sl TSGR HTAl

(C) &=di 9 forare ggam

(D) sr=ai ¥ RS- T
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ENGLISH as LANGUAGE-11.

Candidates should answer questions from the following Part only if they have opted for

PART V
LANGUAGE 11
ENGLISH

Directions : Read the passage given below
and answer the questions that follow(Q.No.
121 to 129) by selecting the most appropriate
option.

World Animal Day had been observed
on 4" October since 1931, as a way of
highlighting the plight of endangered
species. Since then, it has become a day for
remembering and paying tribute to all
animals and the people who love and respect
them. It's celebrated in different ways in
every country, with no regard to nationality,
religion, faith or political ideology.

Since the official World Animal Day
website was launched by Naturewatch
Foundation, the number of events taking
place throughtout the world has increased
and the trend continues. And, that is the aim
of the World Animal Day initiative: to
encourage everybody to use this special day
to hightlight their importance in the world;
celebrate animal life in all its forms;
celebrate humankind's relationship with the
animal kingdom acknowledge the diverse
roles that animals play in our lives — from
being our companions, supporting and
helping us, to bringing a sense of wonder
into our lives; and acknowledge and be
thankful for the way in which animals enrich
our lives. Increased awareness will lead the
way to improved standards of animal
welfare throughout the world. Building the
initiative is a way to unite the animal
welfare movement with something that
everyone can join in, whether they are part
of an organization, group, or as an

individual. Through education, we can help
create a new culture of respect and
sensitivity, to make this world a fairer place
for all living creatures. On the website
people will find everything they need to
make World Animal Day a reality in their
area. If we care about animals, we shouldn't
miss this special day to help make animal
welfare issues front page news around the
globe — a vital catalyst for change.

121. In reading this passage, we learn that
the World Animal Day is an/a
celebration. [CTET 2014]
(A) monthly, on the 4"

(B) year long
(C) annual
(D) commemoration held in 1931
122. The writer points out that animals are
important because they [CTET 2014]
(A) can replace people by being more
resourceful

(B) will outlive human beings in the
years to come

(C) can be put to work in many ways

(D) make us appreciate the diversity of
life

123. The launch of the website is to

[CTET 2014]

(A) promote social networking by
animal lovers

(B) provide guidelines to celebrate
Animal Day

(C) give information about endangered
animal species

(D) serve as a source of reference about
animals
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124. The writer implies that animals are
[CTET 2014]
(A) treated cruelly by human beings
(B) usually given due protection
(C) ignored altogether
(D) often subject to mistreatment
125. Identify the correct statement.
[CTET 2014]
(A) Animals often pose a danger to
people
(B) People tend to forget to celebrate
Animal Day
(C) Animal Day reminds us to care for
other species
(D) The new website was started by the
writer
‘a sense of wonder’
[CTET 2014]

126. The expression :
means
(A) a critical reaction
(B) a sympathetic attitude
(C) an emotional response
(D) a deep understanding
127. A closest synonym for the word
‘sensitivity’ as used here is
[CTET 2014]
(B) affection
(D) tolerance

(A) passivity

(C) awareness
128. The antonym of the word ‘initiative’ is

[CTET 2014]

(A) enterprise (B) idleness

(C) indifference (D) advance
129. A word in the essay that means

‘impetus’ is [CTET 2014]

(A) trend (B) catalyst

(C) reality (D) welfare
Directions : Read the passage given below
and answer the questions that follow (Q.No.
130 to 135) by selecting the most appropriate
option.

Meditating can have an almost instant
effect on reducing stress, researchers have
found. They say three consecutive days of
25-minute sessions can have a dramatic

effect. Researchers studied ‘mindful
meditation’ — the guiding principle is to live
more ‘in the moment,” spending less time
going over past stresses and worrying about
future problems. Techniques include moving
the focus of attention around the body and
observing sensations that arise — the so-
called ‘body scan’. A secular practice, it is
said to help people recognise and overcome
negative thoughts. For the study, the
research team had 66 healthy individuals
aged 18 — 30 years old participate in a three-
day experiment. Some participants went
through a brief mindfulness meditation
training program; for 25 minutes for three
consecutive days, the individuals were given
breathing exercises to help them monitor
their breath and pay attention to their
present moment experiences. A second
group of participants completed a matched
three-day cognitive training program in
which they were asked to critically analyze
poetry in an effort to enhance problem-
solving skills. Following the final training
activity, all participants were asked to
complete stressful speech and mathematical
tasks in front of stern-faced evaluators. Each
individual reported their stress levels in
response to stressful speech and
mathematical performance stress tasks, and
provided saliva samples for measurement of
cortisol, commonly referred to as the stress
hormone. The participants who received the
brief mindfulness meditation training
reported reduced stress perceptions to the
speech and mathematical tasks, indicating
that the mindfulness meditation fostered
psychological stress resilience.

130. The text is a
writing.

piece of
[CTET 2014]

(A) factual (B) descriptive

(C) biographical (D) reflective
131. The writer's attitude to meditation is
[CTET 2014]
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132.

133.

134.

135s.

(A) indifferent

(B) different

(C) suspicious sometimes

(D) supportive

The writer, by referring to the

experiment, suggests that, it is
[CTET 2014]

(A) stress that cannot be controlled

(B) possible for us to control stress

(C) Mathematics is a stressful subject

(D) Poetry analysis is easier than

solving Mathematical problems

The ‘body scan’ is a reference to
[CTET 2014]

(A) an experiment in a lab

(B) a form of meditation

(C) a research experiment

(D) a problem-solving activity

An antonym for the word ‘stressful’

would be [CTET 2014]

(A) annoying (B) calming

(C) challenging (D) erasing

The word that can replace ‘perception’

in the text is [CTET 2014]

(A) belief

(B) attention

(C) conceptualisation

(D) trust

Directions : Answer the following questions
by selecting the most appropriate option.

136.

The teacher's role is shifting from “sage

on the stage” to “guide on the side”.

Technology integration helps this

process when [CTET 2014]

(A) systems store more data and
administer tests individually to
students

(B) students actively search for and
explore answers instead of
receiving standard inputs

(C) easy retrieval of large quantities of
stored data is used to facilitate
preparation of notes

137.

138.

139.

140.

141.

(D) assessment of students' online
inputs is done quickly without
supervision, at any time

Slow learners fail to grasp effectively

and mix up words and structures easily.

Teachers can remediate by beginning

with [CTET 2014]

(A) setting drills for practice

(B) pairing them with ‘clever’ students

(C) identifying the areas of difficulty

(D) preparing a summary of the content

According to language acquisition

theory, when there is a lack of sufficient

information in the language input, there
is a universal grammar that applies to

all [CTET 2014]

(A) colloquial languages

(B) modern language

(C) classical languages

(D) human languages

For English as a second language,

‘acquisition-poor environment's is one

where [CTET 2014]

(A) Hindi/Mother tongue is the lingua
franca

(B) English language is used only in
the classroom

(C) English is not spoken at home at
all

(D) access to any learning material is
unavailable to students

At Class II, sharing stories, familiar

experiences, and interests, employing

gestures where appropriate, is a sub-
skill of function.
[CTET 2014]

(B) listening

(D) writing

(A) reading
(C) speaking
In the case of vocabulary use, grammar
provides a pathway to learners to
[CTET 2014]
(A) speak in formal situations with
greater accuracy and confidence
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(B) re-tell listening inputs into oral  145. “Some research has shown that
output developing students’ native language
(C) combine lexical items into skills leads to higher scores
meaningful and communicative academically over the long term in
expression English.” A bilingual class would be
(D) draft formal pieces of writing in characterized by [CTET 2014]
higher classes (A) the use of students' native language
142. Selection of language items while mn Fhf’ second language class '
determining the second language (B) revision work done in the native
syllabus should take into account language
) [CTET 2014] (C) more guided translation activities,
(A) the minimal disruption of school individual/collaborative
schedule (D) the re-formulation of concepts,
(B) how easy it is to learn/use the item structure-use in the native language
(C) how easy it is to teach the concept 146. Motivation is an important factor in
(D) the frequency and range of use of language learning. For example, in
the items Class VI, may be done.
143. One of the sub-skills that is assessed o [CTET 2014]
for speaking would be [CTET 2014] (A) memorization and use of necessary
(A) understanding, and responding in a Vocabular.y .
paragraph, to literary works (B) systematic analysis and use of
(B) using appropriate volume, clarity structurt.as . .
and gestures in individual or group (C) use of visual devices and game-like
situations D) exermfsetsh ther ¢ h
(C) spelling common, frequently used ( l‘lrsfe d?um’e mother tongue as the
words correctly 147. S 41 L
(D) listening actively and responding to : ffcon, anl%uag:e acquisition 1 more
others in small and large group © e§tlve when it . [CTET 20“]
situations (A) is used as the basis for discussing
tical t
144. Grammar gains its prominence in B gran}ma 1ca'c§.ncep§' Kb
language teaching, particularly in (B) IEVO Veshperlodlc I‘e(\1/1810n work by
. . < the teacher and students
Enlghsh as aforelgn]iangliﬁge. ?cl(l:uracz (C) involves mostly self-study by
in language use can be achieved throug students, using certain guidelines
) ) ) [,CTET 2014] (D) is practised in situations familiar
(A) intensive practice with sentence to students
patterns 148. Among the four languge skills, which

(B) grammar is taught as the basis for
all four language skills

(C) reading more books written in the
target language

(D) integrating knowledge of structures
with use and meaning

pair constitutes the reinforcement skills?
[CTET 2014]

(A) Reading and listening

(B) Speaking and listening

(C) Reading and speaking

(D) Speaking and writing
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149.

150.

Students of Class IV can recognize
flawed usage or sentence construction
when the teacher [CTET 2014]
(A) tells them something is wrong
(B) gives alternatives as possible
corrections

(C) lets them find the corrections

(D) focuses on certain surface errors
The teacher and student/s discuss a
topic and the former starts the
conversation by asking a question, then

the student/s respond by giving

examples and explanations. The

speaking assessment here is to grade

how well students [CTET 2014]

(A) speak fluently and creatively

(B) process information and respond
appropriately

(C) express themselves

(D) respond in an appropriate tone and
express themselves fluently and
accurately
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T T g3 o o ‘' wee oTd rd § 1 9% SR
g o fordt =it o ‘S 29 1 = Haers § 2
121. S=di o HEW o qloh H Ted Afs 3

el ¥ 2 [CTET 2014]
(A) T&T (B) HeH
(C) Tifafafy (D) Sudar a4t
122. 9T B fohger @ o1 S i &1d 1 TE & 2
(A) 9N & h [CTET 2014]
(B) TETHI HIET
(C) EEITAT &7 ¥ HeH &
(D) Tifafafy & &
123. IS 3 SER [CTET 2014]

(A) Tfaferfy e Sfad =8 ©
(B) Tifafafert s FRaR Wi sd & =nfey,

(C) Tifafafy o iy s=a = &l S
(D) wfafafeat wmefs &t =nfey

124. 9= o fe@ =1 gy €2 [CTET 2014]
(A) TSI ST TR 1 THHT
(B) Tifafaferi o1 wew qHeH
(C) F&AAT o Hewd Sl qHHl
(D) wifafaferdi o dreg & e

125. STHE AT F1 e & 2 [CTET 2014]
(A) Tifafee s & It ©
(B) Tt o nfafafy & o== Hred &
(C) ifafafy § == 1 o=d &l &
(D) Tifafafeat sga s Bt §
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(A) TfafafeEt wa T0g ar-de & @ 8
(B) Tiafafeat i sgd e ggdr ¥
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127. ‘31’ o1 faeim § [CTET 2014]
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(C) Fee (D) Hfeferr
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[CTET 2014]
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T
(C) Y& el A Tt § S
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[CTET 2014]
(A) Ay Thel Tl ST =1feT
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[CTET 2014]
(A) ferm (B) forfern
(C) Jafish (D) farfera

134. ‘ifa’ | s —H1 Yo o ?

[CTET 2014]
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(C) *ffa (D) TR
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[CTET 2014]
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(A) ST=ell ol Shael TS <kl & f3em <1 <ie
(B) T=di ok WTo-forehT® W &A= fean sy
(C) st =l 31eh WToTd Torar stf e &
(D) =il bl Heh Aoy faerg smd

138. i foraren sr==il o1 Ao § Aeiqol 9f=a I
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|WE
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(C) & 9T IG5 TR SAAH 5t T §
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[CTET 2014]

(A) SO T i A
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45.(A) (4,5 3R 6 1 G BT M) = 60
(5, 6 3R 9 T T BT HETUS) = 90

3T = 90 — 60 = 30

49. (B)
53. (A)
57.(C)

48. (A)
52.(C)
56. (A)
60. (C)

(B) 69.
< 79.
(B) 89.

B) 99.
(C) 109.
(D) 119.

B) 99.
(D)109.
(B) 119.

(C) 129.
(D) 139.
(D) 149.

(B) 70.
(B) 80.
90.

(D)

(©) 100.
(D) 110.
(B) 120.

(D) 100.
(A) 110.
(©) 120.

(B) 130.
(D) 140.
(B) 150.

(B)
(A)
(A)

(B)
(D)

(B)

(D)
(B)
(B)

(B)
©
(B)
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121. (B) 122. (C)123. (D) 124. (A)125. (A) 126. (C)127. (A) 128. (B) 129. (B) 130. (C)
131. (B) 132. (C)133. (A) 134. (C)135. (D) 136. (C)137. (B) 138. (A)139. (D) 140. (C)
141. (D)142. (B) 143. (D) 144. (A)145. (C) 146. (B)147. (D) 148. (C)149. (D) 150. (B)



